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B.A. Il Semester (NEP) Degree Examination, September/October - 2022

ECONOMICS
DSC-3 : Basic Economics - II

Time : 3 Hours Maximum Marks : 60

Note : Answer all Sections.

SECTION - A/33%°n0 — &

Answer the following sub-questions. Each sub-question carries one mark. 10x1=10
8 YN WI-TJI NN YWZOR. BIIROT WHB-TF R wow» VOB

1. (a) Expand NNP.
NNP O\’D?}D& DAOA.

(b) What is Monetary Economy ?
TLOTOAD BHFTZ Q0TI ?

(c) Define inflation.
TBEOTVW TV, WYATVAR.

(d) What is unemployment ?
?Ddaziraéerﬁ ROTTEeR 2

(e) What is Bank Rate ?
méo& 330 Q0TTeD 2

(ff) What are Public goods ?
TORERAT BTN O3RN ?

(g) What is poverty ?
WBIT DOTTEID ?

(h) What is International Trade ?
©OTITOYLO mémd ROTTEe 2
=

(i Mention any two importance of Globalization.

2IONSCFTEOT OIIVPYTIVTTR DT DBITD), 9.

(j) What is Trade Imbalance ?
msmdd ORTVBROT 0TI 2
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SECTION - B/&en —

Answer any four of the following questions.

3 FSNT O3 TTWTR SESH) TINROR YZOR.

Explain the importance of National income.

m%eoda 33000 m&:gwsaol NROX.

Explain the motives of demand for money.

BT 23eBFOD mcé)esﬁﬁ@ém% RROR.

Explain the causes of inflation.

asamagpd mme;mol NWOX.

Explain the characteristics of business cycle.
VIWT WIW OFLNTIY, DTOR.

What is difference between private and public finance -

SIJORN TEOTORD m:eg TORERAT TOTOAII wémsmemcl 89,

Explain the objectives of monetary policy.
TEOTR DEIOD YT EBNET), DTOR.

SECTION - C/Q%9n — 2

Answer any three of the following questions.

83 FINT BPRPTTTR TR TINRYR YUZOR.

Describe three ways to calculate national income.

TOQEO BTWIOH VPTJIW FRT JTITNTTY, DBWOR.

Explain the impact of inflation.

BEODHYTT BOBVAIR, DHOR.

Explain the advantages and disadvantages of economic growth.

BRFE BIRBRODH VIR B DTOIBRONTT), DB/OR.

Explain the determination of terms of trade.

WRTVT FOITONE AT TINTR, WH0A.

Explain the effects of globalization on developing countries.
@a;’)d@@@ée@ TORNY e 2NEeTTET TOTITNFI), WTOR.
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4x5=20

3x10=30



